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QUESTION 1

The Web API provides operations that enable client applications to achieve which functionality?
A. Query Coaches

B. Search personal data

C. Manage internal activities

D. Query process instances and tasks

Correct Answer: C

QUESTION 2

To change the state of an offline Process Server to online, a developer needs to set the heartBeatInterval to what
value?

A. equal to zero

B. leave it empty

C. less than zero

D. greater than zero

Correct Answer: C

QUESTION 3

Which statement is true when exposing a BPM function as a web service to exterior systems?

A. All operations exposed in a web service are one-way operations.

B. All operations exposed in a web service are request-response operations.

C. Operations exposed in a web service can be both one-way operations or callback operations.

D. Operations exposed in a web service can be both one-way operations or request-response operations.

Correct Answer: B

QUESTION 4
In IBM BPM, what needs to be done to use an external service in a Service Flow?

A. Use a Modify Task activity type to invoke an operation of the external service
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B. Use a Service Task activity type to invoke an operation of the external service
C. Use a Decision activity type to invoke the rules of an external service
D. Use a Content Integration Task activity type to invoke an operation of the external service

Correct Answer: C

QUESTION 5

What is required when a developer wants to share a toolkit with users working on a different Process Center?
A. There is no dependency on the toolkit.

B. The toolkit must be exported as a .twx file.

C. A snapshot of the toolkit needs to be released.

D. All users must be working with the same Process Center.

Correct Answer: C
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